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Abstract

Our experimental design systematically varies image concerns in a dictator/trust
game. In comparison to the baseline, we either decrease the role of self-image con-
cerns (by providing an excuse for selfish behavior) or increase the role of social-image
concerns (by conveying the transfer choice to a third person). In this set up, we
analyze the underlying processes that motivate subjects to give less/more. Control-
ling for distributional preferences and expectations, our results indicate that moral
emotions (guilt and shame) are a significant determinant of pro-social behavior.
The disposition to guilt explains giving in the baseline, while it does not when an
excuse for selfish behavior exists. Subjects’ disposition to shame is correlated to

giving when their choice is public and they can be identified.
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Appendix

A. Details of the belief elicitation
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Figure 1: Screenshot of player X’s decision interface for the elicitation of first-order

beliefs (translations added in red)

B. Guilt and Shame Proneness scale (GASP) of Cohen et al. (2011)

Instructions: In this questionnaire you will read about situations that people are likely
to encounter in day-to-day life, followed by common reactions to those situations. As
you read each scenario, try to imagine yourself in that situation. Then indicate the

likelihood that you would react in the way described.

Very Unlikely (1), Unlikely (2), Slightly Likely (3), Unlikely (4), About 50% Likely (5),
Slightly Likely (6), Very Likely (7)

1. After realizing you have received too much change at a store, you decide to keep it
because the salesclerk doesn’t notice. What is the likelihood that you would feel

uncomfortable about keeping the money?

2. You are privately informed that you are the only one in your group that did not

make the honor society because you skipped too many days of school. What is the



10.

11.

12.

likelihood that this would lead you to become more responsible about attending

school?

. You rip an article out of a journal in the library and take it with you. Your teacher

discovers what you did and tells the librarian and your entire class. What is the

likelihood that this would make you would feel like a bad person?

. After making a big mistake on an important project at work in which people were

depending on you, your boss criticizes you in front of your coworkers. What is the

likelihood that you would feign sickness and leave work?

. You reveal a friend’s secret, though your friend never finds out. What is the

likelihood that your failure to keep the secret would lead you to exert extra effort

to keep secrets in the future?

. You give a bad presentation at work. Afterwards your boss tells your coworkers it

was your fault that your company lost the contract. What is the likelihood that

you would feel incompetent?

A friend tells you that you boast a great deal. What is the likelihood that you

would stop spending time with that friend?

. Your home is very messy and unexpected guests knock on your door and invite

themselves in. What is the likelihood that you would avoid the guests until they

leave?

. You secretly commit a felony. What is the likelihood that you would feel remorse

about breaking the law?

You successfully exaggerate your damages in a lawsuit. Months later, your lies
are discovered and you are charged with perjury. What is the likelihood that you

would think you are a despicable human being?

You strongly defend a point of view in a discussion, and though nobody was aware
of it, you realize that you were wrong. What is the likelihood that this would

make you think more carefully before you speak?

You take office supplies home for personal use and are caught by your boss. What

is the likelihood that this would lead you to quit your job?



13. You make a mistake at work and find out a coworker is blamed for the error. Later,
your coworker confronts you about your mistake. What is the likelihood that you

would feel like a coward?

14. At a coworker’s housewarming party, you spill red wine on their new cream-colored
carpet. You cover the stain with a chair so that nobody notices your mess. What

is the likelihood that you would feel that the way you acted was pathetic?

15. While discussing a heated subject with friends, you suddenly realize you are shout-
ing though nobody seems to notice. What is the likelihood that you would try to

act more considerately toward your friends?

16. You lie to people but they never find out about it. What is the likelihood that

you would feel terrible about the lies you told?

Scoring: The GASP is scored by averaging the four items in each sub-scale (NBE: 1, 9,
14, 16; REP: 2, 5, 11, 15; NSE: 3, 6, 10, 13; WIT: 4, 7, 8, 12)



C. Further analysis on SVO and GASP

Table 1: Summary statistics of SVO and GASP data

minimum maximum median

mean standard deviation
SVO angle 23.48 13.09 -15.54 46.36 26.57
GASP NBE  5.08 1.23 7 5.25
GASP NSE 541 1.03 1.75 7 5.5

Table 2: Correlation matrix of the main variables

MorEx Obs ObsID TG SVO angle 2nd order beliefs GASP_NBE GASP_NSE
MorEx 1
Obs -0.313*** 1
ObsID -0.313***  -0.312*** 1
TG 0.0267 0.0267 0.0267 1
SVO angle -0.123*** 0.0270 0.0696 -0.0342 1
2nd order beliefs -0.145* -0.0208 0.184**  0.239*** 0.283*** 1
GASP_NBE -0.0794* 0.0422 0.0175 0.0320 0.142%** 0.109 1
GASP_NSE -0.00985 0.0632 0.0205 -0.0371 0.0521 -0.0639 0.528*** 1

D. Second-order beliefs



Table 3: Summary statistics of beliefs by treatment

MorEx baseline Obs ObsID
DG TG DG TG DG TG DG TG

Ist order beliefs of X~ 4.782 5440 5710  6.775  6.355  6.093  7.175  7.615
(3.815) (3.414) (3.611) (3.375) (3.964) (2.961) (3.042) (3.652)

Ist order beliefs of Z  4.427  6.525  6.432  7.253 6877  6.662  7.532  7.702
(3.570) (4.532) (4.432) (4.561) (4.378) (3.228) (3.908) (3.569)

2nd order beliefs of Y ~ 4.588  7.083  5.928  7.255  5.880  7.267  7.128  8.442
(3.483) (3.523) (3.684) (3.379) (2.957) (3.402) (3.240) (2.477)

ond order beliefs of Z ~ 4.780  7.197  5.655  7.848  6.392  7.387  7.677  T.847
(3.578) (3.844) (3.457) (3.490) (3.321) (2.653) (3.023) (1.955)
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Figure 2: Second-order beliefs of Y by treatment (0: dictator; 1: trust): mean weights
of intervals [0,2) (dark blue bar) to [18,20] (blue gray bar)



Table 4: Mediation analysis

DV transfer 2nd order beliefs transfer
MorEx -1.20" (0.65) -0.76 (0.64) -1.07" (0.62)
Obs 0.99  (0.67) -0.018 (0.61)  1.00  (0.64)
ObsID 1.82***  (0.60) 1.19** (0.59)  1.49** (0.58)
TG 0.97"*  (0.44)  1.63"* (0.42)  0.46  (0.45)
SVO angle 0.12***  (0.020) 0.10"**  (0.021)
Stage -0.55"*  (0.28)  -0.36  (0.26)  -0.46*  (0.27)
2nd order beliefs 0.30"**  (0.075)
Constant 2.99**  (0.78)  6.50***  (0.71)  1.62**  (0.78)
Observations 240 239

R? 0.296 0.106 0.348

*p<0.10, ¥ p < 0.05, *** p < 0.01

E. Experimental Instructions



Instructions

Welcome and thank you for participating! In this experiment you can earn money
depending on your decisions and the decisions of the other participants. Therefore, it is
very important that you read the instructions carefully.

Please note that you are not allowed to exchange any information with the other
participants.

Also, it is not allowed to talk to other participants during the whole experiment. Whenever
you have a question please raise your hand. We will come to your place and answer your
guestion. Please never ask your question(s) aloud. In case you break these rules we will
have to end the experiment. Please switch off your mobile phones now.

General procedure

The experiment will take around 60 minutes. It consists of three stages. In each stage you
take decisions. The respective decision situations will also be explained on the computer
screen.

Only one of the three stages will be picked randomly for payment and you will be paid
according to the choices in this stage. The exact way your earnings will be determined is
explained further down. Your earnings from this experiment depend on your decisions and
possibly on the other participants’ decisions.

All amounts in the decision situations are stated in Euro. The exact amount will be paid to
you in cash at the end of the experiment. Additionally, you will receive 2.50 Euro for your
participation in the experiment and 3 Euro for completing the survey.

After filling out a questionnaire the experiment will be finished and you will receive your
payment.

Overview of the procedure:
¢ reading the instructions, answering control questions
e stagel
¢ (instructions) for stage 2
¢ (instructions) for stage 3
e Questionnaire
e payment and end of the experiment



Details of the experiment

In the experiment three participants are matched. They are labelled as participant X,
participant Y and participant Z. Whether you are participant X, Y or Z will be determined
randomly at the beginning of the experiment. Hence, it is important that you familiarize
yourself with all roles. The decision situation will be played only once, that is, there is
only one round.

Decision situation

Only participants X and Y have a choice to make, Z does not. First participant X takes a
decision. He/she can select either ,left* or ,right”.

e The choice of ,left* results directly in a payoff of 5 EURO for participant X and 5
EURO for patrticipant Y.

e |f participant X chooses ,right”, the payoffs of both participants will be determined by
participant Y. 20 EURO are available to Y and he/she can decide, how to split this
amount among X and Y. Y can select any transfer of a full EURO amount: 0, 1, 2,
..., 18,19, 20. If Y sends 5, then Y keeps 15 and X receives 5. If Y sends 15, then Y
keeps 5 and X receives 15.

Participant Z does not take a decision and the choices of X and Y do not have any
consequences on the payoff of Z. Participant Z is informed though, which transfer Y

selected. Moreover, Z is informed about the cabin number of participant Y.

The following diagram illustrates the game and the possible payoffs:

Y: 20

In the experiment participant Y will always be asked for their choice, independently of
whether participant A has chosen ,left* or ,right®.

Information about choices

You will only be informed about choices of the other participants at the end of the
experiment, that is, after stage 3. Participant X gets to know which transfer participant Y
has chosen (in case X selected ,right”). Participant Y gets to know, whether X has chosen

2



Jeft or right”. Participant Z gets to know the choice of Y and also the cabin humber
of Y. For receiving the payoff at the end of the experiment participants will be individually
called to the front. For this purpose the cabin number of the participant is announced. The
order of receiving the payoff (first cabin number 1 and 30 at the end, first number 30 and 1
at the end, or starting with cabin number 15 respectively 16 and then
descending/ascending) will be determined randomly.

Thus independently of your cabin number you as participant Y may well be seen by
the participant Z of your group.

Estimates
All participants, that is, also participant Z, will be asked for estimates in the experiment:

e Your estimate with respect to the decision of another participant in your group
e Your estimate about the belief of another participant in your group with respect
to a decision

You can earn money with these estimates (per estimate up to 1 EURO). The closer your
estimate is to the actual value, the more money you earn.

When entering your estimate you have the possibility to express how certain you are about
your estimate. You can distribute a probability mass of 100 on the possible decisions.

In the experiment the possible decisions, for instance, the full numbers from 0 to 20 in the
case of Y's transfer, are represented by intervals. If you are completely sure, then you
would allocate the entire probability mass of 100 to respective interval. You can also
spread your estimate on several estimates, though. This way you can express uncertainty
about your estimate and you can extend your estimate to a broader area. Consider that
the probabilities have to sum to 100.

The figure shows participant X's screen to enter the estimate with respect to the transfer of
participant Y. The possible transfers of 0 to 20 are aggregated to 10 intervals. The
expression [0,2) means that in this interval a transfer of O is included, as well as a transfer
of 1, but a transfer of 2 is not included anymore (it is included in the intervall [2,4)).

At the lower end of the screen you are informed about the sum of the currently entered
probability mass.



Wie hoch denken Sie ist der Transfer von Teilnehmer Y? Sie konnen lhre Schatzung auf eines oder mehrere Intervalle aufteilen.

Bitte kreuzen Sie in jeder Spalte nur ein Kastchen an!
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Example

You are the bouncer of a bar. Your boss will arrive at 23h and will want to know the share
of female guests. Before 23h 100 persons entered the bar.

You paid close attention and you know that 47 men and 53 women were among the
guests. In order to get the maximum payoff you should allocate the entire probability mass
of 100 in the interval that contains the value 53. In the experiment you will, of course,
not know for sure what the share respectively the transfer is — you are supposed to
estimate it. Basically, it works the same, though. There will be control questions to practice
entering estimates and testing your understanding.

Payoff

Your earnings from these estimates depends on how close your estimates are to the actual
observed values in the experiment. The closer your estimate is to the real value, the more
you earn. The maximum possible earning is 1 EURO per estimate. Participant X and Y
make two estimates, participant Z makes four estimates.

Either way, it is optimal for you to disclose your actual estimates. On request we will show
you (after the experiment), how exactly the payoff from estimates is computed.

Your earnings from the experiment

At the end of the experiment you will be notified about your payoff in the respective stages
and which stage was randomly selected to be relevant for the earnings. You will receive
your earnings in cash directly after the experiment is over, that is, after filling in the
guestionnaire.



